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4.1  ��	�
��
����
�
������
�����

        �����	
����
���������� ������������	
����
�������������������� �������������

�� ��	!��
 MINITAB Release 14 �/�0�����
1���2
/����34�!�����1������	
����
�����
����� Factorial Design ��� 33 ��0
/����34�!��>?����������	
����
������
@� F-ratio ���
/�
�����
���	�@?���?� 95 % ��@��>?�������031�
�E 5 % ( α = 0.05 )  �1����
/�
���	�K�!�� (A) �> 
3 ����� 
@� 250, 400 ��� 550 m/min ��!������P�� (B) �> 3 �����
@� 0.02,0.06 ��� 0.1 
mm/rev 
����R������!�� (C) �> 3 �����
@� 0.1,0.2 ��� 0.3 mm ��!��3���	�T�
/�
���
��U��� @V�������
/�
���
���	
�@?�����������V���� ��0W���
/����X� ����� (Main effect) 
���!������!/��!�� 
/����X� ��/�� (Interaction effect) ����/��!�����3��!�� ���
/����X� �
�/������/��!�������V�3��!��
        	�@?��W������������
��V��>V�>!�����!�� 2 !�����
@� 
�����U��� @V���� ��� 
���
���
	
�@?��������V����      �����V�WR�!�����	
����
�����0	�
��
 �����	
����

���������� �U
�2 
MANOVA (Multivariate Analysis of Variance)

     4.1.1  ��
����
�
�������������� MANOVA("���#
�"��)
�������	
����
 �̂��1����!�������3��
@� 
���	�K�!�� ��!������P�� ���
����R������-

!�� ����1����!�����!�� 
@�
/�
�����U��� @V���� ���
/�
���
���	
�@?�����������V���� 

!�����>? 4.1 �3��!���������	
����
 MANOVA for Cutting  Speed
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W��!�����>? 4.1  ��/������ Cutting  Speed �>��031�
�E (
/� Λ = 0.465 ���
/�
F = 23.247 cR?�
/� P-value = 0.000) ���34�!�!���@?� e �K������0/���>��031�
�E	�/����

        W��!�����>? 4.1  ��/�3��!�f������ H0(Cutting Speed)4���h�	3X�����V�WR�3�����/��
���	�@?�
��?����!������!/��!��	 @?����/�!�����>?�>3/��3���3�U�!/�����h�	3X H0(Cutting Speed) ��V�cR?��/��

���	�@?���?���V��U� (Simultaneous confidence intervals) �̂������X>��� Tukey  ��/�!������>?�>�
��
@� Ra ��� Dimensional error cR?��1���������3��
/� Ra �/��	�@?��W�� Cutting Speed �> 3 
����� �����V�WR���3����0
�/�/� 
�/ �̂��>?�>��!/� Ra �0/���>��031�
�E�>? ����� α= 0.05 (j�
-
���� � !�����>? 13)W�������3�� ��/�
�>? Cutting Speed= 250 ��� 400 �>��!/� Ra �0/���>��031�
�E 	�@?��W�� P-value = 0.0457
�>? Cutting Speed= 250 ��� 550 �>��!/� Ra �0/���>��031�
�E 	�@?��W�� P-value = 0.0000
�>? Cutting Speed= 400 ��� 550 �>��!/� Ra �0/���>��031�
�E 	�@?��W�� P-value = 0.0000
        �1�����>?3����3��
/� Dimensional error 	�@?��W�� Cutting Speed �> 3 ����� ������V�WR�
��3����0
�/�/� 
�/ �̂��>?�>��!/� Dimensional error �0/���>��031�
�E�>? ����� α= 0.05 (j�
-
���� � !�����>? 15) W�������3�� ��/�
�>?  Cutting Speed= 250 ��� 400   �>��!/� Dimensional error �0/�� �̂/�>��031�
�E 	�@?��W��
/�
P-value = 0.3670
�>? Cutting Speed= 250 ��� 550   �>��!/�  Dimensional error    �0/���>��031�
�E 	�@?��W��
/�
P-value = 0.0000
�>? Cutting Speed= 400 ��� 550   �>��!/�  Dimensional error    �0/���>��031�
�E 	�@?��W��
/� 
P-value = 0.0000
cR?�W�3�U� �̂��/�
/� Ra �>��!/�����h�	3X H0(Cutting Speed) ����>?3U�

!�����>? 4.2 �3��!���������	
����
 MANOVA for Feed
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W��!�����>? 4.2  ��/������ feed�>��031�
�E (
/� Λ = 0.610��� F = 14.009 cR?�
/�
P-value = 0.000) ���34�!�!���@?� e �K������0/���>��031�
�E	�/����

        W��!�����>? 4.2  ��/�3��!�f������ H0(Feed)4���h�	3X�����V�WR�3�����/��
���	�@?���?����
!������!/��!��	 @?����/�!�����>?�>3/��3���3�U�!/�����h�	3X H0(Feed) ��V�cR?��/��
���	�@?���?���V�
�U� (Simultaneous confidence intervals) �̂������X>��� Tukey  ��/�!������>?�>��
@� Ra ���
Dimensional error cR?��1���������3��
/� Ra �/��	�@?��W�� Feed �> 3 ����� �����V�WR���3��
��0
�/�/� 
�/ �̂��>?�>��!/� Ra �0/���>��031�
�E�>? ����� α= 0.05 (j�
���� � !�����>? 17) W��
�����3�� ��/�
�>?  Feed= 0.02 ��� 0.06 �>��!/� Ra �0/�� �̂/�>��031�
�E 	�@?��W��
/�  P-value = 0.6682
�>?  Feed= 0.02 ��� 0.1 �>��!/� Ra �0/���>��031�
�E 	�@?��W��
/�  P-value = 0.0143
�>?  Feed= 0.06 ��� 0.1 �>��!/� Ra �0/���>��031�
�E 	�@?��W��
/�  P-value = 0.0010
        �1�����>?3����3��
/� Dimensional error 	�@?��W�� Feed �> 3 ����� �����V�WR���3����0

�/�/�
�/ �̂��>?�>��!/� Dimensional error �0/���>��031�
�E�>? ����� α= 0.05 (j�
���� � !����
�>? 19) W�������3�� ��/�
�>?  Feed= 0.02 ��� 0.06 �>��!/� Dimensional error �0/�� �̂/�>��031�
�E 	�@?��W��
/� P-value 
= 0.9335
�>?  Feed= 0.02 ��� 0.1 �>��!/� Dimensional error �0/���>��031�
�E 	�@?��W��
/� P-value 
= 0.0001
�>?  Feed= 0.06 ��� 0.1 �>��!/� Dimensional error �0/���>��031�
�E 	�@?��W��
/� P-value 
= 0.0000
cR?�3�U� �̂��/�
/� Ra ��� Dimensional error �>��!/�����h�	3X H0(Feed) 	�/�����

!�����>? 4.3 �3��!���������	
����
 MANOVA for Depth
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W��!�����>? 4.3  ��/������ Depth �>��031�
�E (
/� Λ = 0.610��� F = 14.009 cR?�
/�
P-value = 0.000) ���34�!�!���@?� e �K������0/���>��031�
�E	�/����

        W��!�����>? 4.3  ��/�3��!�f������ H0(Depth)4���h�	3X�����V�WR�3�����/��
���	�@?���?����
!������!/��!��	 @?����/�!�����>?�>3/��3���3�U�!/�����h�	3X H0(Depth) ��V�cR?��/��
���	�@?���?���V�
�U� (Simultaneous confidence intervals) �̂������X>��� Tukey  ��/�!������>?�>��
@� Ra ���
Dimensional error cR?��1���������3��
/� Ra �/��	�@?��W�� Depth �> 3 ����� �����V�WR���3��
��0
�/�/� 
�/ �̂��>?�>��!/� Ra �0/���>��031�
�E�>? ����� α= 0.05 (j�
���� � !�����>? 21) W��
�����3�� ��/�
�>?  Depth = 0.1 ��� 0.2 �>��!/� Ra �0/���>��031�
�E 	�@?��W��
/� P-value = 0.0040
�>?  Depth = 0.1 ��� 0.3 �>��!/� Ra �0/���>��031�
�E 	�@?��W��
/� P-value = 0.0081
�>?  Depth = 0.2 ��� 0.3 �>��!/� Ra �0/�� �̂/�>��031�
�E 	�@?��W��
/� P-value = 0.9716
        �1�����>?3����3��
/� Dimensional error 	�@?��W�� Feed �> 3 ����� �����V�WR���3����0

�/�/�
�/ �̂��>?�>��!/� Dimensional error �0/���>��031�
�E�>? ����� α= 0.05 (j�
���� � !����
�>? 23) W�������3�� ��/�
�>? Depth = 0.1 ��� 0.2 �>��!/� Dimensional error �0/���>��031�
�E 	�@?��W��
/� P-value 
= 0.0029
�>? Depth = 0.1 ��� 0.3 �>��!/� Dimensional error �0/���>��031�
�E 	�@?��W��
/� P-value 
= 0.0006
�>? Depth = 0.2 ��� 0.3 �>��!/� Dimensional error �0/���>��031�
�E 	�@?��W��
/� P-value 
= 0.8942
cR?�3�U� �̂��/�
/� Ra ��� Dimensional error �>��!/�����h�	3X H0(Feed) 	�/����
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 4.1.2  ��
����
�
�����&����"'
('

'��)*+����,�+���� Ra ���������� ANOVA
("���#
�"��)

!�����>? 4.4 �3��!���������	
����
 ANOVA ���
/� Ra

 ��W�������	
����

W��!�����>? 4.4 �1������	
����
�>?�����
���	�@?���?� 95 %��@��>?�������031�
�E α = 0.05 

cR?�
/� Fα,ν 1,ν 2W��!���� F m ratio �>? α= 0.05 W� �̂�
/� F0.05,2,81 = 3.126 �>	�2n
���!��3���W

@�4��
/� F m ratio �>
/������/� Fα,ν 1,ν 2  W��o�	3X H0 cR?����04R�!�������V� e �>��!/�
���
��U��� @V����


/� Cutting Speed
     W��!�����>? 4.4 
/� F m ratio =417.95   cR?��>
/������/�
/�   F0.05,2,78 = 3.126 ���
/�

P-value = 0.000cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/� 
Cutting Speed�>��!/�
�����U��� @V����

        
/� Feed
   W��!�����>? 4.4 
/� F m ratio =133.23 cR?��>
/������/�
/�    F0.05,2,78 = 3.126 ���
/�  

P-value = 0.000cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/� 
Feed�>��!/�
�����U��� @V����
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/� Depth
W��!�����>? 4.4 
/� F m ratio =119.91   cR?��>
/������/�
/�    F0.05,2,78 = 3.126 ���
/�  

P-value = 0.000cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/� 
Depth �>��!/�
�����U��� @V����


/� Interaction ����/�� Cutting Speed���
/� Feed
W��!�����>? 4.4 
/� F m ratio =77.73    cR?��>
/������/�
/�   F0.05,4,78  = 2.506 ���
/�    

P-value = 0.000 cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/�
Interaction ����/��
/� Cutting Speed���
/� Feed�>��!/�
�����U��� @V����

 
/�� Interaction ����/�� Cutting Speed���
/� Depth
W��!�����>? 4.4 
/� F m ratio =49.24    cR?��>
/������/�
/�   F0.05,4,78  = 2.506 ���
/�    

P-value = 0.000 cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/�
Interaction ����/��
/� Cutting Speed���
/� Depth �>��!/�
�����U��� @V����


/� Interaction ����/�� Feed ���
/� Depth
W��!�����>? 4.4 
/� F m ratio =15.17    cR?��>
/������/�
/�   F0.05,4,78  = 2.506 ���
/�    

P-value = 0.000 cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/�
Interaction ����/��
/� Feed ���
/� Depth �>��!/�
�����U��� @V����

        
/� Interaction ����/�� Cutting Speed, Feed ��� Depth
        W��!�����>? 4.4 
/� F m ratio =12.34    cR?��>
/������/�
/� F0.05,8,81  = 2.076 ���
/�    
P-value = 0.000 cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/�
Interaction ����/��
/� Cutting Speed,Feed ���
/� Depth �>��!/�
�����U��� @V����

        W��!�����>? 4.4  ��/����X� �����(Main effect)�U��pWW�0�>��!/�
/�
�����U������ @V�
���(Ra) 3/�����X� ��/��(Interaction effect)����/���pWW�0����U��pWW�0�K3/���!/�
/�
�����U���
��� @V�������0
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j� �������>? 4.1 �3�� Main Effects Plot for Ra �>�	c�����

W��j� �������>? 4.1  ��/�	�@?�
/� Cutting Speed	 �?��RV�W��1����
/�
�����U��� @V����
���� �!/	�@?�
/� Feed	 �?��RV�W��1����
/�
�����U��� @V����	 �?��RV� ���	�@?�
/� Depth 	 �?��RV� W�
�1����
/�
�����U��� @V������������>�������W�
��>?

M
ea

n 
of

 R
a(

um
)

550400250

0.60

0.55

0.50

0.45

0.100.060.02

0.30.20.1

0.60

0.55

0.50

0.45

Cutting Speed(m/min) Feed(mm/rev)

Depth(mm)

Main Effects Plot (data means) for Ra(um)
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j� �������>? 4.2 �3�� Interaction Effects Plot for Ra �>��	c�����

j� �������>? 4.2 ��/����X� ��/��(Interaction effects)����/���pWW�0����U��pWW�03/�
��!/�
�����U������ @V������0�>? Cutting Speed ��� Feed ��0	�@?�����
/���V� 2 	 �?��RV��>��
�1����
�����U���	 �?��RV����0

W��!�����>? 116 (j�
���� �)�3�������	
����

/� Means ��� Ra  ��/� �>?  Cutting 
Speed =250  
/� Ra = 0.594 �>?  400 
/� Ra = 0.551 �>?  500 
/� Ra = 0.449 cR? � ��/��>
���
�!�!/����� 31���������� Feed  ��/� �>? Feed = 0.02 
/� Ra = 0.517 �>? 0.06 
/� Ra = 0.499 
�>?  0.10 
/� Ra = 0.579 cR?� ��/��>
����!�!/����� ���31����������  Depth  ��/��>?
/�
Depth = 0.1 
/� Ra = 0.578 �>?  0.2
/� Ra = 0.506 �>?  0.3 
/� Ra = 0.511 cR?� ��/��>
����!�
!/����� 31���������� Cutting Speed*Feed  ��/��>? Cutting Speed = 550 ��� Feed = 0.02 

/� Ra = 0.440cR?�!?1�3U� 31���������� Cutting Speed*Depth  ��/��>? Cutting Speed = 550 
��� Depth = 0.2
/� Ra = 0.439 cR?�!?1�3U� 31���������� Feed *Depth  ��/��>? Feed = 0.06
��� Depth = 0.3 
/� Ra = 0.467 cR?�!?1�3U� ���31���������� Cutting Speed*Feed *Depth
 ��/��>? Cutting Speed = 550 Feed = 0.02��� Depth = 0.2
/� Ra = 0.420cR?�!?1�3U�

Cutting Speed(m/min)

Feed(mm/rev)

Depth(mm)

0.100.060.02 0.30.20.1
0.7

0.6

0.5

0.7

0.6

0.5

Cutting

550

Speed(m/min)
250
400

Feed(mm/rev)

0.10

0.02
0.06

Interaction Plot (data means) for Ra(um)
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4.1.3  ��
����
�
�����&����"�������*���'���,�+�������������� ANOVA
("���#
�"��)

!�����>? 4.5 �3��!���������	
����
 ANOVA ���
/� Dimensional error

��W�������	
����

W��!�����>? 4.5 �1������	
����
�>?�����
���	�@?���?� 95 %��@��>?�������031�
�E α = 0.05 

cR?�
/� Fα,ν 1,ν 2W��!���� F m ratio �>? α= 0.05 W� �̂�
/� F0.05,2,78 = 3.126 �>	�2n
���!��3���W

@�4��
/� F m ratio �>
/������/� Fα,ν 1,ν 2  W��o�	3X H0 cR?����04R�!�������V� e �>��!/�
���
��U��� @V����

     
/� Cutting Speed
     W��!�����>? 4.5 
/� F m ratio =108.71   cR?��>
/������/�
/�    F0.05,2,78 = 3.126 ���
/�

P-value = 0.000cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/� 
Cutting Speed�>��!/�
���
���	
�@?�����������V����

        
/� Feed
   W��!�����>? 4.5 
/� F m ratio =82.25     cR?��>
/������/�
/�    F0.05,2,78 = 3.126 ���
/�  

P-value = 0.000cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/� 
Feed�>��!/�
���
���	
�@?�����������V����
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/� Depth
W��!�����>? 4.5 
/� F m ratio =54.38     cR?��>
/������/�
/�    F0.05,2,78 = 3.126 ���
/�  

P-value = 0.000cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/��
/� 
Depth �>��!/�
���
���	
�@?�����������V����

        
/� Interaction ����/�� Cutting Speed���
/� Feed
W��!�����>? 4.5 
/� F m ratio =20.52    cR?��>
/������/�
/�   F0.05,4,78  = 2.506 ���
/�    

P-value = 0.000 cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/�
Interaction ����/��
/� Cutting Speed���
/� Feed�>��!/�
���
���	
�@?�����������V����


/� Interaction ����/�� Cutting Speed���
/� Depth
W��!�����>? 4.5 
/� F m ratio =8.95     cR?��>
/�������/�
/�    F0.05,4,78  = 2.506 ���
/�    

P-value = 0.000 cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/�
Interaction ����/��
/� Cutting Speed���
/� Depth �>��!/�
���
���	
�@?�����������V�-
���


/� Interaction ����/�� Feed ���
/� Depth
W��!�����>? 4.5 
/� F m ratio =6.35    cR?��>
/������/�
/�     F0.05,4,78  = 2.506 ���
/�    

P-value = 0.000 cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/�
Interaction ����/��
/� Feed ���
/� Depth �>��!/�
���
���	
�@?�����������V����


/� Interaction ����/�� Cutting Speed, Feed ��� Depth
        W��!�����>? 4.5 
/� F m ratio =5.33     cR?��>
/������/�
/�    F0.05,8,81  = 2.076 ���
/�    
P-value = 0.000 cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/�
Interaction ����/��
/� Cutting Speed,Feed ��� Depth �>��!/�
���
���	
�@?���������
��V����
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        W��!�����>? 4.5  ��/����X� ����� (Main effect) �U��pWW�0�>��!/�
/�
���
���	
�@?��
���������V����3/�����X� ��/�� (Interaction effect) ����/���pWW�0����U��pWW�0�K3/���!/�
/�

���
���	
�@?�����������V����

j� �������>? 4.3 �3�� Main Effects Plot for Dimensional error �>�	c�����

W��j� �������>? 4.3  ��/�	�@?�
/� Cutting Speed	 �?��RV�W��1����
/�
���
���	
�@?��
���������V�������� �!/	�@?�
/� Feed	 �?��RV�W��1����
/�
���
���	
�@?�����������V����
	 �?��RV� ���	�@?�
/� Depth 	 �?��RV� W��1����
/�
���
���	
�@?�����������V��������
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550400250
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0.036
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Main Effects Plot (data means) for Dimensional error(mm)
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j� �������>? 4.4 �3�� Interaction  Plot for Dimensional error �>�	c�����

j� �������>? 4.4  ��/� ���X� ��/������U��pWW�03/���!/�
���
���	
�@?���������
��V������0�>? Depth ��� Feed ��0	�@?�����
/���V� 2 	 �?��RV��>���1����
���
���	
�@?�����
������V����	 �?��RV����0 3/�� Cutting Speed	 �?��RV�W��1����
/�
���
���	
�@?�����������V�
�������

W��!�����>? 116 (j�
���� � ) �3�������	
����

/� Means ��� Dimensional error 
 ��/� �>? Cutting Speed �>? 250  
/� Dimensional error = 0.033 �>?  400 
/� Dimensional error 
= 0.03 �>? 500 
/� Dimensional error = 0.019 cR?� ��/��>
����!�!/����� 31���������� Feed 
 ��/� �>? Feed = 0.02 
/� Dimensional error = 0.024 �>?  0.06 
/� Dimensional error = 0.023
�>? 0.10 
/� Dimensional error = 0.034 cR?� ��/��>
����!�!/����� ���31����������  Depth
 ��/��>?  Depth = 0.1 
/� Dimensional error = 0.033 �>?  0.2
/�� Dimensional error = 0.025 �>?
0.3 
/ � Dimensional error = 0.024 cR? � ��/��> 
��� �!�!/ ����� 31 ���������� Cutting 
Speed*Feed  ��/��>? Cutting Speed = 550 ���  �>?
/�Feed = 0.06 
/� Dimensional error 
= 0.015 cR?�!?1�3U� 31���������� Cutting Speed*Depth  ��/��>? Cutting Speed = 550 ���

Cutting Speed(m/min)

Feed(mm/rev)

Depth(mm)

0.100.060.02 0.30.20.1

0.04

0.03

0.02

0.04

0.03

0.02

Cutting

550

Speed(m/min)
250
400

Feed(mm/rev)

0.10

0.02
0.06

Interaction Plot (data means) for Dimensional error(mm)
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Depth = 0.2
/� Dimensional error = 0.017 cR?�!?1�3U� 31���������� Feed *Depth  ��/��>?
Feed = 0.06 ��� Depth = 0.3 
/� Dimensional error = 0.017 cR?�!?1�3U� ���31����������
Cutting Speed*Feed *Depth  ��/��>? Cutting Speed = 550Feed = 0.02��� Depth = 0.2

/� Dimensional error = 0.010cR?�!?1�3U�

4.1.4  ��
����
�
�������������� MANOVA("����
�0����)

!�����>? 4.6 �3��!���������	
����
 MANOVA for Cutting  Speed

W��!�����>? 4.6  ��/������ Cutting  Speed�>��031�
�E (
/� Λ = 0.663 ��� 
/� 
F = 11.392cR?�
/� P-value = 0.000) ���34�!�!���@?� e �K������0/���>��031�
�E	�/����

        W��!�����>? 4.6   ��/�3��!�f������ H0(Cutting Speed)4���h�	3X�����V�WR�3�����/��
���	�@?�
��?����!������!/��!��	 @?����/�!�����>?�>3/��3���3�U�!/�����h�	3X H0(Cutting Speed) ��V�cR?��/��

���	�@?���?���V��U� (Simultaneous confidence intervals) �̂������X>��� Tukey  ��/�!������>?�>�
��
@� Ra ��� Dimensional error  cR?��1������� ��3��
/� Ra �/��	�@?��W��  Cutting Speed �> 
3 ����� �����V�WR���3����0
�/�/� 
�/ �̂��>?�>��!/� Ra  �0/���>��031�
�E�>?  ����� α= 0.05 (j�
-
���� � !�����>? 25) W�������3�� ��/�
�>? Cutting Speed= 250 ��� 400 �>��!/� Ra �0/���>��031�
�E 	�@?��W��
/� P-value = 0.0180
�>? Cutting Speed= 250 ��� 550 �>��!/� Ra �0/���>��031�
�E 	�@?��W��
/� P-value = 0.0395
�>? Cutting Speed= 400 ��� 550 �>��!/� Ra �0/���>��031�
�E 	�@?��W��
/� P-value = 0.0000
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        �1�����>?3����3��
/� Dimensional error 	�@?��W�� Cutting Speed �> 3 ����� �����V�WR�
��3����0
�/�/� 
�/ �̂��>?�>��!/� Dimensional error �0/���>��031�
�E�>? ����� α= 0.05 (j�
-
���� � !�����>? 27) W�������3�� ��/�
�>? Cutting Speed= 250 ��� 400 �>��!/�  Dimensional error   �0/���>��031�
�E 	�@?��W��
/� 
P-value = 0.0236
�>? Cutting Speed= 250 ��� 550 �>��!/�  Dimensional error   �0/���>���031�
�E 	�@?��W��
/� 
P-value = 0.0001
�>? Cutting Speed= 400 ��� 550 �>��!/� Dimensional error �0/�� �̂/�>��031�
�E 	�@?��W��
/� 
P-value = 0.2593
cR?�3�U� �̂��/�
/� Ra �>��!/�����h�	3X H0(Cutting Speed) ����>?3U�

!�����>? 4.7 �3��!���������	
����
 MANOVA for Feed

W��!�����>? 4.7   ��/������
/� feed�>��031�
�E (
/� Λ = 0.57438 ��� F = 15.974 cR?� 

/� P-value = 0.000) ���34�!�!���@?� e �K������0/���>��031�
�E	�/����

        W��!�����>? 4.7  ��/�3��!�f������ H0(Feed) 4���h�	3X�����V�WR�3�����/��
���	�@?���?����
!������!/��!��	 @?����/�!�����>?�>3/��3���3�U�!/�����h�	3X H0(Feed) ��V�cR?��/��
���	�@?���?���V�
�U� (Simultaneous confidence intervals) �̂������X>��� Tukey  ��/�!������>?�>��
@� Ra ���
Dimensional error cR?��1���������3��
/� Ra �/��	�@?��W�� Feed �> 3 ����� �����V�WR���3��
��0
�/�/� 
�/ �̂��>?�>��!/� Ra �0/���>��031�
�E�>? ����� α= 0.05 (j�
���� � !�����>? 29) W��
�����3�� ��/�
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�>?  Feed= 0.02 ��� 0.06 �>��!/� Ra �0/�� �̂/�>��031�
�E 	�@?��W��
/� P-value = 0.6342
�>?  Feed= 0.02 ��� 0.1 �>���!/� Ra �0/���>��031�
�E 	�@?��W��
/� P-value = 0.0000
�>?  Feed= 0.06 ��� 0.1 �>��!/� Ra �0/���>��031�
�E 	�@?��W��
/� P-value = 0.0000
        �1�����>?3����3��
/� Dimensional error 	�@?��W�� Feed �> 3 ����� �����V�WR���3����0

�/�/�
�/ �̂��>?�>��!/� Dimensional error �0/���>��031�
�E�>? ����� α= 0.05 (j�
���� � !����
�>? 31) W�������3�� ��/�
�>?  Feed= 0.02 ��� 0.06 �>��!/� Dimensional error  �0/���>��031�
�E 	�@?��W��
/� P-value 
= 0.0063
�>?  Feed= 0.02 ��� 0.1 �>��!/� Dimensional error    �0/���>��031�
��E 	�@?��W��
/� P-value 
= 0.0000
�>?  Feed= 0.06 ��� 0.1 �>��!/� Dimensional error    �0/���>��031�
�E 	�@?��W��
/� P-value 
= 0.0000
cR?�3�U� �̂��/�
/� Dimensional error �>��!/�����h�	3X H0(Feed) ����>?3U�

!�����>? 4.8 �3��!���������	
����
 MANOVA for Depth

W��!�����>? 4.8  ��/������ Depth �̂/��>��031�
�E (
/� Λ = 0.98240��� F = 0.446 cR?�

/� P-value = 0.775) ���34�!�!���@?� e �K������0/�� �̂/��>��031�
�E	�/����
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     4.1.5  ��
����
�
�����&����"'
('

'��)*+����,�+���� Ra ����������� ANOVA
("����
�0����)

!�����>? 4.9 �3��!���������	
����
 ANOVA ���
/� Ra

��W�������	
����

W��!�����>? 4.9 �1������	
����
�>?�����
���	�@?���?� 95 %��@��>?�������031�
�E α = 0.05 

cR?�
/� Fα,ν 1,ν 2W��!���� F m ratio �>? α= 0.05 W� �̂�
/� F0.05,2,78 = 3.126 �>	�2n
���!��3���W

@�4��
/� F m ratio �>
/������/� Fα,ν 1,ν 2  W��o�	3X H0 cR?����04R�!�������V� e �>��!/�
���
��U��� @V����


/� Cutting Speed
     W��!�����>? 4.9 
/� F m ratio =160.49    cR?��>
/������/�
/�  F0.05,2,78 = 3.126 ���
/�

P-value = 0.000cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/� 
Cutting Speed�>��!/�
�����U��� @V����

        
/� Feed
   W��!�����>? 4.9 
/� F m ratio =259.76    cR?��>
/������/�
/�   F0.05,2,78 = 3.126 ���
/�  

P-value = 0.000cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/� 
Feed�>��!/�
�����U��� @V����
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/� Depth
W��!�����>? 4.9 
/� F m ratio =2.78     cR?��>
/����0��/�
/�   F0.05,2,78  = 3.126  ���
/�    

P-value = 0.068 cR?��>
/������/�
/� α = 0.05 �����V�WR�0�����3��!�f�� H0 3�U� �̂��/�
/� 
Depth �̂/��>��!/�
�����U��� @V����

        
/� Interaction ����/�� Cutting Speed���
/� Feed
W��!�����>? 4.9 
/� F m ratio =57.81    cR?��>
/������/�
/� F0.05,4,78  = 2.506 ���
/�    

P-value = 0.000 cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/�
Interaction ����/��
/� Cutting Speed���
/� Feed�>��!/�
�����U��� @V����


/� Interaction ����/�� Cutting Speed���
/� Depth
 W��!�����>? 4.9 
/� F m ratio =42.76    cR?��>
/������/�
/�   F0.05,4,78  = 2.506 ���
/�    

P-value = 0.000 cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/�
Interaction ����/��
/� Cutting Speed���
/� Depth �>��!/�
�����U��� @V����

        
/� Interaction ����/�� Feed ���
/� Depth
W��!�����>? 4.9 
/� F m ratio =30.01    cR?��>
/������/�
/�   F0.05,4,81  = 2.506 ���
/�    

P-value = 0.000 cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/�
Interaction ����/��
/� Feed ���
/� Depth �>��!/�
�����U��� @V����

        
/� Interaction ����/�� Cutting Speed, Feed ��� Depth
        W��!�����>? 4.9 
/� F m ratio =12.17    cR?��>
/������/�
/�   F0.05,8,81  = 2.076 ���
/�    
P-value = 0.000 cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/�
Interaction ����/��
/� Cutting Speed,Feed ��� Depth �>��!/�
�����U��� @V����

        W��!�����>? 4.9  ��/����X� �����(Main effect)�U��pWW�0�>��!/�
/�
�����U������ @V����
0�	���Depth �>? �̂/�>��!/�
/�
�����U������ @V���� 3/�����X� ��/�� (Interaction effect)����/��
�pWW�0����U��pWW�0�K3/���!/�
/�
�����U������ @V�������0
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j� �������>? 4.5 �3�� Main Effects Plot for Ra �>�
��
 �̂�
�

W��j� �������>? 4.5  ��/�	�@?�
/� Cutting Speed,Feed ��� Depth 	 �?��RV�W��1����
/�

�����U������ @V����	 �?��RV�

M
ea

n 
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a(
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)

550400250

0.70
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0.55
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0.30.20.1

0.70

0.65

0.60

0.55

Cutting Speed(m/min) Feed(mm/rev)

Depth(mm)

Main Effects Plot (data means) for Ra(um)
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j� �������>? 4.6 �3�� Interaction Plot for Ra �>�
��
 �̂�
�

j� �������>? 4.6  ��/����X� ��/������/���pWW�0(Interaction) ����U��pWW�03/���!/�
/�

�����U������ @V������0�>? Cutting Speed,Feed ��� Depth 	�@?�����
/�	 �?��RV��>���1����
/�

�����U������ @V����	 �?��RV����0

W��!�����>? 115 (j�
���� � ) �3�������	
����

/� Means ��� Ra  ��/�  Cutting 
Speed �>? 250  
/� Ra = 0.613 �>?  400 
/� Ra = 0.562 �>?  500 
/� Ra = 0.659 cR? � ��/��>
���
�!�!/����� 31���������� Feed  ��/�  Feed �>? 0.02 
/� Ra = 0.584 �>? 0.06 
/� Ra = 0.568 �>? 
0.10 
/� Ra = 0.683 cR?� ��/��>
����!�!/����� ���31����������  Depth  ��/� Depth �>? 0.1 

/� Ra = 0.619 �>?  0.2
/� Ra = 0.606 �>?  0.3 
/� Ra = 0.610cR? � ��/� �̂/� �> 
����!�!/ �����
31���������� Cutting Speed*Feed  ��/��>?   Cutting Speed = 250 ��� Feed = 0.06 
/�
Ra = 0.513 cR? �!?1 �3U� 31���������� Cutting Speed*Depth  ��/��>?  Cutting Speed = 400 
��� Depth = 0.1 
/� Ra = 0.545 cR?�!?1�3U� 31���������� Feed *Depth  ��/��>? Feed = 0.06

Cutting Speed(m/min)

Feed(mm/rev)

Depth(mm)

0.100.060.02 0.30.20.1

0.7

0.6

0.5

0.7

0.6
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Cutting

550

Speed(m/min)
250
400
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0.10

0.02
0.06

Interaction Plot (data means) for Ra(um)
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��� Depth = 0.1 
/� Ra = 0.541 cR?�!?1�3U� ���31���������� Cutting Speed*Feed *Depth
 ��/��>? Cutting Speed = 400 Feed = 0.06 ��� Depth = 0.1 
/� Ra = 0.450cR?�!?1�3U�

     4.1.6  ��
����
�
�����&����"�������*���'���,�+����  ���������� ANOVA
("����
�0����)

!�����>? 4.10 �3��!���������	
����
 ANOVA ���
/� Dimensional error

        ��W�������	
����

W��!�����>?4.10 �1������	
����
�>?�����
���	�@?���?� 95%��@��>?�������031�
�E α = 0.05 

cR?�
/� Fα,ν 1,ν 2W��!���� F m ratio �>? α= 0.05 W� �̂�
/� F0.05,2,78 = 3.126 �>	�2n
���!��3���W

@�4��
/� F m ratio �>
/������/� Fα,ν 1,ν 2  W��o�	3X H0 cR?����04R�!�������V� e �>��!/�

���
���	
�@?�����������V����

        
/� Cutting Speed
     W��!�����>? 4.10 
/�� F m ratio =50.54    cR?��>
/������/�
/�  F0.05,2,78 = 3.126 ���
/�

P-value = 0.000cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/� 
Cutting Speed�>��!/�
���
���	
�@?�����������V����
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/� Feed
 W��!�����>? 4.10 
/� F m ratio =80.16    cR?��>
/������/�
/�   F0.05,2,78 = 3.126 ���
/�  

P-value = 0.000cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/� 
Feed�>��!/�
���
���	
�@?�����������V����

         
/� Depth
W��!�����>? 4.10 
/� F m ratio =2.22    cR?��>
/����0��/�
/�  F0.05,2,78  = 3.126  ���
/�    

P-value = 0.678 cR?��>
/������/�
/� α = 0.05 �����V�WR�0�����3��!�f�� H0 3�U� �̂��/�
/� 
Depth �̂/��>��!/�
���
���	
�@?�����������V����


/� Interaction ����/�� Cutting Speed���
/� Feed
W��!�����>? 4.10 
/� F m ratio =26.84   cR?��>
/������/�
/�  F0.05,4,78  = 2.506 ���
/�    

P-value = 0.000 cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/�
Interaction ����/��
/� Cutting Speed���
/� Feed�>��!/�
���
���
���	
�@?���������
��V����


/� Interaction ����/�� Cutting Speed���
/� Depth
W��!�����>? 4.10 
/� F m ratio =8.05    cR?��>
/����0��/�
/�   F0.05,4,78  = 2.506 ���
/�    

P-value = 0.000 cR?��>
/����0��/��
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/�
Interaction ����/��
/� Cutting Speed���
/� Depth �>��!/�
���
���	
�@?�����������V�
���


/� Interaction ����/�� Feed ���
/� Depth
W��!�����>? 4.10 
/� F m ratio =5.74    cR?��>
/������/�
/�   F0.05,4,78  = 2.506 ���
/�    

P-value = 0.000 cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/�
Interaction ����/��
/� Feed���
/� Depth �>��!/�
���
���	
�@?�����������V����
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/� Interaction ����/�� Cutt ing Speed, Feed ��� Depth
        W��!�����>? 4.10 
/� F m ratio =10.32   cR?��>
/������/�
/�  F0.05,8,78  = 2.076 ���
/�    
P-value = 0.000 cR?��>
/����0��/�
/� α = 0.05 �����V�WR��o�	3X3��!�f�� H0 3�U� �̂��/�
/�
Interaction ����/��
/� Cutting Speed, Feed��� Depth �>��!/�
���
���	
�@?���������
��V����

        W��!�����>? 4.10  ��/����X� �����(Main effect)�U��pWW�0�>��!/�
/�
���
���	
�@?��
���������V����0�	��� Depth 3/�����X� ��/������/���pWW�0(Interaction effect)����U��pWW�0�K�
3/���!/�
/�
���
���	
�@?�����������V���� 

j� �������>? 4.7 �3�� Main Effects Plot for Dimensional error �>�
��
 �̂�
�

W��j� �������>? 4.7  ��/�	�@?�
/� Cutting Speed,Feed ��� Depth 	 �?��RV�W��1����
/�

���
���	
�@?�����������V����	 �?��RV�

M
ea
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of
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en
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on
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rr

or
(m

m
)

550400250

0.045

0.040

0.035

0.100.060.02

0.30.20.1

0.045

0.040

0.035

Cutting Speed(m/min) Feed(mm/rev)

Depth(mm)

Main Effects Plot (data means) for Dimensional error(mm)
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j� �������>? 4.8 �3�� Interaction Plot for Dimensional error �>�
��
 �̂�
�

j� �������>? 4.8  ��/����X� ��/������/���pWW�0(Interaction) ����U��pWW�03/���!/�
/�

���
���	
�@?�����������V���� 

W��!�����>?115 (j�
���� �) �3�������	
����

/� Means ��� Dimensional error  �
�/� �>? Speed =250  
/� Dimensional error = 0.037 �>?  400 
/� Dimensional error = 0.032�>?
500 
/� Dimensional error = 0.041 cR?� ��/��>
����!�!/����� 31���������� Feed  ��/� �>?
Feed = 0.02 
/ � Dimensional error = 0.034 �>?  0.06 
/ � Dimensional error = 0.033 �>?  0.10 

/� Dimensional error = 0.044 cR?� ��/��>
����!�!/����� ���31����������  Depth  ��/��>?
Depth = 0.1 
/ �  Dimensional error = 0.038 �>?  0.2
/ � Dimensional error = 0.036 �>?  0.3 
/ �
Dimensional error = 0.038 cR? �  � �/ � �̂/� �> 
 � � � � ! � !/� � � �� � 31 � � �� � � � � � � Cutting 
Speed*Feed  ��/��>?
/� Cutting Speed = 250 ����>?
/� Feed = 0.06 
/� Dimensional error 

Cutting Speed(m/min)

Feed(mm/rev)

Depth(mm)

0.100.060.02 0.30.20.1
0.05

0.04

0.03

0.05

0.04

0.03

Cutting

550

Speed(m/min)
250
400

Feed(mm/rev)

0.10

0.02
0.06

Interaction Plot (data means) for Dimensional error(mm)
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= 0.027 cR?�!?1�3U� 31���������� Cutting Speed*Depth  ��/��>? Cutting Speed = 400 ���
Depth = 0.1 
/� Dimensional error = 0.031 cR?�!?1�3U� 31���������� Feed *Depth  ��/��>?
Feed = 0.06 ��� Depth = 0.1 
/� Dimensional error = 0.032cR?�!?1�3U� ���31����������
Cutting Speed*Feed *Depth  ��/��>? Cutting Speed = 400  Feed = 0.06 ��� Depth = 0.1

/� Dimensional error = 0.022cR?�!?1�3U�

4.2 3"��
���"34")4�5��

��&��64�	7
��4�8���
64��4����"'
('

'��)*+����	�

���"�������*���'��'���,�+����

     4.2.1 ��
��3"��
���"34")4�5�

��&��64�	7
��4�8���
64��4����"'
('

'��
)*+����	�
���"�������*���'��'���,�+����'��8�"����
�	�
�#
�"��

W����������	�T����sR��t����X� ����!����������������R�	��K���/�	�����0���>�
��

���	c������>?�>��!/�
�����U������ @V�������
���
���	
�@?�����������V���� ��/�!��-
���	��/���V�3����4�X���0
������������
�����U������ @V�������
���
���	
�@?�����
������V���� �̂��>  ��0 �W��2�W��
/�  R2 cR?��>
/�3����� �����V� ���������>VW��1������3����

���3�� ��X
�>?	����3�����/��!��������������!�����
�����U������ @V�������
���
���
	
�@?�����������V����������>�
��
���	c������!/����������   cR?�W�����������  
MINITAB  Release 14  �/�0�����
1���2��������������34�!� ��0W��1������	
����

3����
���3�� ��X
�����/����  2  ������  ����>V

1. ������3����
���3�� ��X
����� ����	�>0� �1�����>? 2 (quadratic)
1.1 3����
���3�� ��X
����� ����	�>0����
�����U������ @V����

           Ra  =  K0 + K1V + K2F + K3D+ K4V2 + K5F2 + K6D2 + K7V*F+ K8V*D+ K9F*D       (4.1)

��0�>?   Ra = 
�����U������ @V����(µm)
K0-K9 = 
/�3�����3��X�x���!�����

V = Cutting Speed (m/min)
F = Feed (mm/rev)
D = Depth (mm)
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1.2 3����
���3�� ��X
����� ����	�>0����
���
���	
�@?�����������V����

De  =  K0 + K1V + K2F + K3D+ K4V2 + K5F2 + K6D2 + K7V*F+ K8V*D+ K9F*D      (4.2)

��0�>?   De = 
���
���	
�@?�����������V���� (mm)
K0-K9 = 
/�3�����3��X�x���!�����

V = Cutting Speed (m/min)
F = Feed (mm/rev)
D = Depth (mm)

           1.3 3����
���3�� ��X
����� ����	�>0�31�����
���3�� ��X
����/��
�����U������
 @V�������
���
���	
�@?�����������V����
           Ra  =  K0 + K1De + K2De2                                                                                    (4.3)

     ��0�>?yp��
���!�����	��@�����3�����>? (4.1) - (4.2)

2. ������3����
���3�� ��X
���	�K�c
��	��	�>0�
2.1 3����
���3�� ��X
���	�K�c
��	��	�>0����
�����U������ @V����

           ln(Ra)  =  K0 + K1 lnV + K2 lnF + K3 lnD+ K4 lnV*F+ K5 lnV*D + K6 lnF*D 
                          + K7 lnV*F*D
��@�

           ��0�>?yp��
���!�����	��@�����3�����>? (4.1)

2.23����
���3�� ��X
���	�K�c
��	��	�>0����
���
���	
�@?�����������V����

           ln(Ra)  =  K0 + K1 lnV + K2 lnF + K3 lnD+ K4 lnV*F+ K5 lnV*D + K6 lnF*D 
                          + K7 lnV*F*D

0 3 5 61 2 4 7
a

K K K KK K K KR   = e V F D V*F V*D F *D V*F*D (4.4)
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��@�

��0�>?yp��
���!�����	��@�����3�����>? (4.2)

           2.3 3����
���3�� ��X
���	�K�c
��	��	�>0�31�����
���3�� ��X
����/��
�����U���
��� @V�������
���
���	
�@?�����������V����
           ln(Ra)  =  K0 + K1 ln(De) 
��@�

           ��0�>?yp��
���!�����	��@�����3�����>? (4.1) - (4.2)

	�@?��1������������������������34�!�	 @?���3����
���3�� ��X
��V� 2 ����������  
W��1����	��>0�	�>0�
/� R2  ���3������V� 2 ������  	 @?����/�3����
���3�� ��X
���������>?
�>
���	����3������/����  ���!�����>? 4.11

!�����>? 4.11 �3��������3�������� ����	�>0� ���	�K�c
��	��	�>0� ���
/� R2 ������>�
	c��������
��
 �̂�
�
�������

���>�
���������3���� R2(%)

	c����� a) ���� ����	�>0� �1�����>? 2 (quadratic) 
Ra = 1.03 m 7.5*10-5V- 3.6F - 3.1Dm 1*10-6V2 + 31F2 + 3.8D2

        +1*10-3V*F+ 2.8*10-3V*D+ 1.3F*D                                     (4.7)

De = 6.8*10-1 + 4.5*10-5Vm 4.1*10-1Vm 3.1*10-1D m 1.7*10-7V2

          + 3.8 F2 + 3.6*10-1D2+ 2.4*10-4V*D+ 4.2*10-1F*D            (4.8)

Ra = 0.4 - 0.3 De + 1.3*102De 2                                               (4.9)

72.2

70

81.4

0 1
a

K KR  = e (De) (4.6)

0 3 5 61 2 4 7K K K KK K K KDe  = e V F D V*F V*D F *D V*F *D (4.5)
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�������
���>�

���������3���� R2(%)

	c����� b)���	�K�c
��	��	�>0�
4 4 3 4 3 3

3

-3.1*10 -1.8*10 -5.2*10 2*10 7.6*10 -6.1*10
a

3.8*10

R  = 1.5V F D V*F V*D F *D

        V*F *D

4 4 3 4 4 3

4

-6.8*10 -4.3*10 -1.3*10 4*10 4*10 -1.5*10

1.8*10

De = -1.4V F D V*F V*D F *D

        V*F *D

-13.2*10
a R = 1.7De                                                                      (4.12)


��
 �̂�
� a) ���� ����	�>0� �1�����>? 2 (quadratic)
Ra = 7.9*10-1 m 1.9*10-3V- 1.7F + 9.4*10-1D+ 3*10-6V2 + 40.7F2

       + 8.1*10-1 D2- 1.7*10-3V*F m 2.3*10-3V*D - 6.2F*D

De. = 6*10-2 m 1.9*10-4Vm 1.1*10-1F + 2.8*10-2D + 3.1*10 m7V2

         + 3.4F2+ 1.7*10-1 D2m 2.1*10-4V*F m 1.7*10-4V*D 
m 4.7*10-1F*D

Ra = 0.3 + 6.6 De. + 2.9*101 De 2

b)���	�K�c
��	��	�>0�
3 4 4 4 4 3

3

4.8*10 -2*10 1.6*10 1.9*10 -1.7*10 8.4*10
a

-7.8*10

R  = 0.3V F D V*F V*D F *D

        V*F *D

3 4 4 4 4 3

4

-2 6.4*10 -2.6*10 2.9*10 3.2*10 -2.3*10 9.4*10

-1.5*10

De = 1.5 *10 V F D V*F V*D F *D

        V*F *D

66

51

81.5

(4.11)

(4.10) 69.3

62.2

65.5

!�����>? 4.1 (!/�)

(4.13)

(4.14)

(4.15)

(4.16)

(4.17)

57.6

43.5
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�������
���>�

���������3���� R2(%)


��
 �̂�
� -14.9*10
a R = 3.1De

W��!�����>? 4.11   ��/� 3����
���3�� ��X
����� ����	�>0� �1�����>? 2 (quadratic)W�
���
/� R2  �����/�3����
���3�� ��X
����	�K�c
��	��	�>0� �����V�  3����
���3�� ��X
�>?
	����3�����/�����X� ����!����������������R�	��K���/�	�����0���>�
��
���	c������>?�>�
��!/�
�����U������ @V�������
���
���	
�@?�����������V���� W�����3����
���3�� ��X
�
���� ����	�>0� 

4.3 ��
��3��3"��
9�9���)*���:�����&����"'
('

'��)�+����	�
�&����"����
���*���'��'���,�+����

4.3.1 ��3��3�����""��4�3:��4;'��3"��

        	�T���������	 @?�	��>0�	�>0�
/�W����>? �̂�W�������������
/��>? �̂�W����� 0���2
��0
�1����3U/�3j������!���>?�0�/�����	�!�>?�1���� (��j�
���� � !�����>? 5-8 ) 	 @?��1���������
�1����	��>0�	�>0����
/��>? �̂�W����� 0���2
��0�1���� �����3�� Paired Samples T-Test 
����/��
/��>? �̂�W������������� ����1���0 ��/� 
/���V�3���!�!/������0/�� �̂/�>��0-
31�
�E(∝ = 0.05)

     4.3.2 ��3�����"�������*���'����
)���
<��
	�T�������
���
���	
�@?�������� 0���2
��@�
�����/�01������ 0���2
��0W�

 �W��2�W��
/��>? �̂�W��������������	
>0����
/� 0���2
����>?3U� ��@��>
���
���	
�@?��
���0�>?3U� ������
���
���	
�@?��3����4��� �̂�W��
/� MAD ��� MSE W�������3��
���
	
�@?�������� 0���2
 ��/� 
/� MAD ��� MSE (��j�
���� � !�����>? 9-11 ) �>
/�!?1��3��
�/���� 0���2
���
�����/�01����
/��0�/��	�2n
�>?0����� �̂��(±10%)

!�����>? 4.1 (!/�)

(4.18) 43.5
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4.4  	3��=�)9&��'��,�+������4���
��>�����8�"���#
�"��	�
��
�0����

        j� �������>? 4.9 �3��j� 4/�0��V�����>?�/�������R����0���>�	c�����(��)���
��
 �̂�
�
(�/��)�>? Cutting Speed= 550 m/min, Feed= 0.1 mm/rev,Depth = 0.3 mm

        j� �������>? 4.10�3��j� 4/�0��V�����>?�/�������R� ���0���>�	c�����
�>? Cutting Speed = 550 m/min, Feed= 0.1 mm/rev,Depth = 0.3 mm 
/�
�����U������ @V�
��� Ra = 0.45 µm
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        j� �������>? 4.11 �3��j� 4/�0��V�����>?�/�������R����0���>�
��
 �̂�
�
�>? Cutting Speed= 550 m/min, Feed= 0.1 mm/rev,Depth = 0.3 mm 
/�
�����U������ @V�
��� Ra = 0.65 µm

4.5  	3��=�)9&��'��8�"�����8,���>�,�+����

(�)   (�) 
 
        j� �������>?  4.12  �3��j� 4/�0���>�
��
 �̂�
��/��!�� (�) ����!�� (�) �>?�1�����0�0 
100 	�/��>? Cutting Speed= 550 m/min, Feed= 0.1 mm/rev,Depth = 0.3 mm
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                          (�)                                                                     (�) 
 
      j� �������>?  4.13  �3��j� 4/�0���>�	c������/��!�� (�) ����!�� (�) �>?�1�����0�0 

100 	�/��>? Cutting Speed= 550 m/min, Feed= 0.1 mm/rev,Depth = 0.3 mm


